
D
A

T
A

 R
E

C
O

R
D

D
oc

um
en

t n
on

 c
on

tr
ac

tu
el

, s
ou

s r
és

er
ve

 d
e 

m
od

ifi 
 c

at
io

n 
- R

ep
ro

du
ct

io
n 

in
te

rd
ite

. 
 

FP
  

    38, Rue Charles de Gaulle F-94140 Paris/Alfortville   -   www.prudhommesa.com   -   Tél. : +33 o1 45 18 19 20   -   Fax : +33 o1 45 18 19 21prudhomme S.a

To replace : Substitution :

LOLock L Otis 42 500
D

A
T

A
 R

E
C

O
R

D
F

o
r h

in
g

e
d

 la
n

d
in

g
 d

o
o

rs
Kit LO

1/3

42 500

OTDV/LO
(option)

screw

SHXb18

CGX

GVX/D or
GVX//G

LR180 + AD290
AD690

AD391

AD390

40

242

30

46

30

73

80

175

45 60

70

35

150
Profil 5

175

75

70

35
145

Profil 6

135

45 6031

33
150

Profil 11

LR 180 * * LO    prudhomme S.a
with Shunt.

Lock L (Otis)

In
d.

 A
 d

u 
26

/0
4/

20
10

(square bolt)

= Y

Option :
CP/LO (Drilling gauge)



+ +

= =
RightLeft

M
A

IN
 F

E
A

T
U

R
E

S
 O

F
 T

H
E

 
P

R
O

D
U

C
T

    38, Rue Charles de Gaulle F-94140 Paris/Alfortville   -   www.prudhommesa.com   -   Tél. : +33 o1 45 18 19 20   -   Fax : +33 o1 45 18 19 21 prudhomme S.a

D
oc

um
en

t n
on

 c
on

tr
ac

tu
el

, s
ou

s r
és

er
ve

 d
e 

m
od

ifi 
 c

at
io

n 
- R

ep
ro

du
ct

io
n 

in
te

rd
ite

. 
 

FP
  

LO Lock L Otis42 501
F

o
r h

in
g

e
d

 la
n

d
in

g
 d

o
o

rs

* = P * = E

* = C

* = LLk L1

* = P * = E

* = C

* = LLk L1

AD390

AD290
AD690 GVX/G

CGX
SHXb 18

M5x12 (x4)

M5x16 (x2)

AD391

OTDV/LO
(Option) AD290

AD690

AD390

SHXb 18

GVX/D

CGX

AD391

OTDV/LO
(Option)

New

ref. : LR180 *G LO ref. : LR180 *D LO

In
d.

 A
 d

u 
07

/1
0/

20
10

M5x12 (x4)

M5x16 (x2)



Mounting stages

90

ØM_

D
oc

um
en

t n
on

 c
on

tr
ac

tu
el

, s
ou

s r
és

er
ve

 d
e 

m
od

ifi 
 c

at
io

n 
- R

ep
ro

du
ct

io
n 

in
te

rd
ite

. 
 

FP
  

    38, Rue Charles de Gaulle F-94140 Paris/Alfortville   -   www.prudhommesa.com   -   Tél. : +33 o1 45 18 19 20   -   Fax : +33 o1 45 18 19 21prudhomme S.a

S
E

T
T

IN
G

 U
P

 T
H

E
 U

N
IT

LOLock L Otis 42 502
F

o
r h

in
g

e
d

 la
n

d
in

g
 d

o
o

rs

P
O
U
S
S
E
Z

LR180

GVX

AD290

P
O
U
S
S
E
Z

GVX

Ø 6,5

+

AD390

AD391

M5 (x6)

Ø M5

AD390

CGX

GGX

SHX18

AD391

OTDV/LO
(option)

LO

New (Obligatory)

LR180

Ø 3,2

Ø 6
+

+ 90

LR180

AD290

D

G

D

G

CP
/LO

Ø 3,2
+

Ø 14

CP/LO

AD690

LR180

GVX
AD390

Very important

1

8 9 10 11 12

2 3 4 5 6 7

10

Pin adjustment

10

1p

2p

3p


